FEHENRE

1. ¥%4
¥B4 BH0 6 R )R R a3
BT T REAI) || [ TR N

2. ¥BNE

1) FHEI4 R EEFHEAT  THHE
275 HIW H & 6411H19H
= Sfn T4 8H20H

2) JEATHM

3) WEHY
AR, AIAROERETRXIICEN T, W) EEFELED S 5 2 TL

LD - MR R OHEEZITS (B TH D,

4) FEBNE
BIRE TEEHIEER) OLBY

Et2mE  JuNH R



Sk
B A

AR

¥4 | A6 FEEE AR R R ER HiERESE
H H FEYE IR
THE - TfE - FE5 B &\ & A A OB N RR
FEYE U = 280, 840
FEYE S 2V 218, 940
4 R RV U B = 218,940 | 4 HRFEVE SN E
6 Jy
AKOEFR R E 7 L (R E T
TR UER = 61, 900
4 K YER =X 61,900 | 4 FR/KYERIEBIN (L-VEIZXD
) 1 km
HuTE | £ = 1, 601, 409
LA & = 1, 601, 409
B b S X 1,601,409 | Bl (fE3EETE)
1 *5%
B i
0.1 )1 km2)=
it A & 2y 2, 160, 040
A X 1, 607, 240
e ) = 1,607,240 | {E3EFHHE
1 ESr
B s A
0.5 km
R
0.5 km
R B Mg & 1 £
0.5 km
FHEMTIH

Et2mE  JuNH R



B

ARE

¥4 | A6 FEEE AR R R ER B
H H Jix A
THE - TfE - FE5 B & & %A Ao AR
0.5 km
FRITIR
0.5 km
FH HBEATC R ) &
0.5 km
PRV & = 109, 400
R A = 60, 900 | TEZEAtiH
1 e
AT G F2V 48,500 | 7)1 [ZRA &
1 JHR
B2 - A& 2V 443, 400
e = 443,400 | Fu—4g (B)ILKTGARR Y M
-2 1 =
Fa— 4R (KERET R OVERRE
i) 2 []
BR3¢ 2y 83, 000
[R5 T 2y 83, 000
B AR SRR X 83,000 | 7B 1AM IENE
1 =
B 2y 4,125, 289
ikeRliFEEd 2y 2,994, 711
GBI = 2,994, 711
= ZE RS = 7, 120, 000
gxal - BEt = 7,500, 941
-2 - EAmE  Jup s iR



HAL AR

WA | D6 R Q) KRB G B ER REIES
HH B Gl
THH - TR - FER <R {v2 % & & KA OB OER
xEt - AT X 1 7,500, 941
At - B &V 1 7,500,941 | @XGEHEFE
1 K
FURE AR
1 =
T HIE B EHER
1 K
b & BHERL
1 E2V
& TR RSP
1 =
B R S Rk
1 K
i X 1 933, 400
ol GREHER) X 1 933, 400
TeesE = 1 845,000 | IAH
1 X
Z DA, X 1 88, 400 | & [FIBiHIHE A
1 [=]
PRATHi A 1 X B
1 [=]
B =X 1 454, 782
R X 1 454, 782
i gty =X 1 52,782 | ik (EE - BRI
1 =
AR T VBRI Y 1 402, 000 | FE kb (ERk A

L BRI e



AR WNARE

ERL | A6 EE ) KRR RGBS ER FREESS

HH [ERZIE S

THE - TfE - FE5 ¥ iva & & %A OB R
1 =

EEEREM (ZFOfhFmER<) =X 1 8, 889, 123
Z OJEAR =X 1 4,511, 674
— R = 1 7,209, 203
eSS = 1 20, 610, 000
E SIS E2V 1 27, 730, 000

- BRI e



